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Questions

Slerra Nevada is the name of:

Which of the following has the greatest importance in commercial fisheries?

Which of the following countries is closest in size Iran?

Which is the mountain between the Black sea and Caspian sea?

Which of the hottest place of the word:

What do you mean by the term density of population of a country?

Which of the following climate types is said to be"idea climate for maximum comfort and
mental alertness"?

One degree of longitude/Latitude covers approximately:

The Celtic Sea is located between which two countries:

The time difference between the two extreme points in the east and the east and the west is
of:

Answers Choice

A. An animal of America <br>

B. A disease found in America <br>
. A fruit found in America <br>

. A mountain in America <br>
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. Spain <br>

. Dogger Banks <br>
. ltaly <br>

. Portugal <br>

Iraq <br>

Mexico <br>
Saudi Arabia <br>
. Argentina <br>

Ural <br>
Caucasus <br>
Alps <br>

. Balkan&nbsp; <br>

. A Aziziyah <br>

. Seville <br>

C. Death valley <br>
D. jacobabad <br>

T OOWP UOwWP UOwr

A. The average number of deaths
per annum <br>

B. The average number of births of
Per annum <br>

C. The average number of people
living in one hectare&nbsp; <br>

D. The average number of the
people living in one square kilometer
<br>

. British Type climate <br>

. Laurentian Type climate <br>

. Mediterranean Type climate <br>
. Gulf Type climate <br>

A

B

C

D

A. 70 miles <br>
B. 56.6 miles <br>
C. 66.6 miles <br>
D. 28.6 miles <br>
A
B
C
D

. Australia and New Zealand<br>
. India and Tanzania <br>

. Zanzibar and Tanzania <br>

. England and Ireland<br>

. 3 hours <br>
. 2 hours <br>
.5 1/2 hours <br>
. 2 1/2 hours <br>
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